py [GeV/c]

6 < mqi.y Wy < 7GGV/02

7T < Mai- sy < 9G€V/02

9 < mgi.y Wy < 24 GeV/02
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—
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I
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o

0.563 £ 0.063 £ 0.033
0.867 £ 0.087 £ 0.051
1.025 £ 0.132 + 0.059
0.743 £ 0.062 £ 0.043
0.587 £ 0.051 £ 0.035
0.363 £ 0.041 £ 0.022
0.264 +0.024 £ 0.016
0.182+0.024 £ 0.011
0.102 £ 0.010 £ 0.007
0.059 £ 0.007 £ 0.004

0.626 £ 0.053 £ 0.037
1.138 £ 0.071 £ 0.067
1.213 £ 0.069 £ 0.069
1.167 £ 0.074 = 0.067
0.883 +0.050 £ 0.053
0.742 £ 0.050 £ 0.044
0.491 £ 0.032 £ 0.029
0.327 £ 0.022 £ 0.019
0.170 £0.011 £ 0.011
0.067 = 0.006 £ 0.004

0.217+£0.035 £ 0.013
0.512 £ 0.056 £ 0.030
0.627 £ 0.046 £ 0.036
0.632 £ 0.053 £ 0.036
0.544 £ 0.039 £ 0.032
0.413 £0.032 £ 0.025
0.335 £ 0.026 £ 0.020
0.231 +£0.020 £ 0.014
0.152 £0.010 £ 0.010
0.073 £ 0.006 £ 0.005




